
Name Date                      Period

1 A doctor made the scatterplot below to show the number of pounds an infant gains in relation to
the number of days,
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Which of the following best describes the correlation for the data?

_ÿ Positive COrl-elation

B  Nc)rlllnear correlattc)n

C  Negative correlation

D  No {;orre.la[Ion

2. A family wilt travel 2so miles from their house in order to reach Dallas, TX. Write an inequality
can be used to find all possible values of t, tlÿe time it will take this fanlily to reach Dallas in
hoursÿ if they travel at an average speed of at leas[ r miles per hour?



I
3, Janelle drew KL in isosceles trapezoid FGH] to create similar trapezoids FKLJ and KGHL.

G  4cm H
Y
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Based on the given Information, what are the values ofy and w In centimeters?
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4,  A figure Is shown on the grid below,
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Which graph best represents this figure after it has been translated 3 units up and 5 units to
the right?
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m An electrician charges $ 65  ' the first hour of labor and $60 foF f, flÿ-h ÿ,ddJfJÿr,a.l-hour of labor.

A customer calculates that the electrician charges  $215  a total of 31 hours of labor,
2

Write an equation for the statement from above.                        --

1 The perimeter of a rectangle Is 42 centimeters, The length of the rectangle can be
repreTented by )(X+6) I, and its width can be represented by (3X+4)\', What are the
dimensions of this rectangle in centimeters?

m

3x+q

The graph below shows tile relationship between tile number of dollars a worker earns and
the number of hours worl(ed.

3x+q

Worker's Earnings

J
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Time Worked (h)

Wlÿat does tile slope of the graph represent?



u Regina owns a drum that has a diameter of 14 inches and a height of 5,5 inches, as shown
below. She wanb to design a new drum by dilating the dimensions of the original drum by a
scale factor of 2,6.--

I            14 in,           l

What will be the diantetel; d, and the height, h, of the new drum?

9. How will a system of equations be represented on a graph?

15

X



10, A paper drinkinq cud In the shape of a cone has a height of 12 :entlmeters and a diameter of
8 centimeters,              What is closest to the volume of the cup In cubic centimeters?

11,  The drawing below shows a side view of a picture frame on Mary's desk,

I    I
4.2 cm

What Is closest to the length or the frame support?

Q/'-I- ÿ'z.= Cz.

Z.t :5. L.q "ÿCÿ        ...



12, WMch graph best represents the equation y = 2X + 1.1 ?
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3,  An architect is designing an office building with n floors tidal: will have an F/,4 radio antenna
[5,85 m ÿa!! on i[s roof, Each floor of the building will be.. 4.1m high. Which funcdon can be
used to find the ÿotal height of the building in meÿ:ers, including the Fbl antenna.;

A h(n) -ÿ [S.SSn+ 4.1

h(n) = 4,1 ,n + 15.85

C  h(n) = 4.1 n- 15,85

D h(n)= [9,TSn



:1.4. The table shows the amount of water used daily to water the fairways at Fairlawn
Golf Course. To the nearest tenth, determine the mean absolute deviation of the
data.

Daily Amount of Water Used                                                     ÿ:ÿ

Day  [12314567 ÿ"
Gallons       9  12 12 0 9 8 5         ÿ ,ÿ.ÿ   C:ÿ_:ÿ.ÿ=
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The graph models the value of a machine over a 10-year period,

Value of a Machine
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Which equation best represents the relationship between x, the age of the machine In years,
and y, the value of the machine In dollars over this 10-year period?

A y = -0.002x + 2,500

(ÿ) y = -S00x + 8,000

C  y = 500x + 8,000

D  y = 0.002x + 2, 500



16. Gwendolyn placed a,ÿ!5-foot ladder against the side of her house so that the base of the
ladder was .3 feet from the base of the house, as shown in the diagram below,

:::t2- + bZ =.C-zÿ

q _ÿ gz _ Iqq
7_.

b =135
=(13S

t,= II.t.J£

-- 3 ft --4

,that measurement in feet is closest to d, the distance from the top of t:he ladder to the
ground?

17, During one month, four trees at a nursery increased In height at the rates shown below.

1      1
8O/o, ÿ, 16o/o,

Wlllch list shows these rates in order from least to greatest?
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18.  A palnl;er charges $35 per hour for labor plus $40 for a ladder rental when he painÿs a house,
The customer provides the paint. The total charge to paint a customer's house ,,',,as $ 1160.
How many hours did the painter spend painting this house?

:!.9, The slope and y-Intercept of the grapll of f were dlanged to mal<e the graph (ÿf g, as shown
below.

Y

i i i i :17.

Which statement describes the changes that were made to the graph of fro make the graph
of g?

A Ttÿe slope was mulllplied by 2, and the y-intercept was decreased by 5 I;o mal<e the
graph of g.

1
B T!ÿe slope was multiplied by -ÿ, and the y-Intercept was increased by 5 to make the

graph of g. &

The slope was multiplied by -2ÿ y-Intercept was byand the decreased 5 to make the

graph of g.

1
D The slope was multiplied by ÿ, and the y-intercept was Increased by 5 to make the

graph of g.



20.  Tile graph below shows the water level ill a tank being drained at a constant rate,

Tank Water Level
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If the rate at which the tank is drained is changed to 6 inches per' hour and tile iniUal water
le.ve[ sl:ay.S I he same, how wcÿuJd the time it lake.s I:o ÿrnpLy [he. tank be affec:ted?

(ÿIt would take 4 fewer hours,

6  It would take 1,5 more llours,

H  IL would I:al<e 2 fewer hours.

3  It would take 2 more hours,

21.
Tile lal.e Fee for overdue bo{Hdÿ at: a Itbrary Is $0,25 per day per book, wiLh a maximurn laLe
fee or $5.00 per book. Which graph models [he Lol:e,I late fee For a book that was checke.d
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22, Carlos has a square tablecloth with a total area of 66 square feet. Which measurement is
closest to the length of each side of the tablecloth in feet?

23, A store manager begins each shift with tile same total amounL of money, She keeps $200

In a safe and distributes ttÿe rest equally co the 5 cashiers In the store.

Write an equation to represent this.

24, Leonard had t tickets for the rides at a county fair, He kept 9 of the tickets and gave an
enual number o£ the remaininn tickets to 6 of his friends, There were no tickets left over,

Write an equation that can be used to find  f, the number of tickets Leonard gave to each of his

friends?



25,  Whldh c<ÿordlnaLe pair is in the .ÿ;olul:ion set Ior y = 1 - 6x

(ÿ(o, !)

D (-1, 1)

B (1, -1)

,(i, o)
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26. Sal purchased some art supplies and card stock In order to make greeting cards, The graph
below shows the relationship between the number of cards Sal makes and the total cost of
the materials used to make the cards.

Cost of Making Greeting Cards
Y
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Number of Cards Made
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Based on the graph, what will be the total cost of making 20 greeting cards?

F $12.50

e SSO.OO

H $52.50

(ÿ $15.oo



27,  Pentagon ABCDE is similar to penLagon RSTUV. The perimeter of pentagon ABCDE Is
38.72 centimeters.

T

What Is the lengLh of ÿ3-T ?                /

f-
A  18 cm

B  25,8 cm

C  15 cm
'ÿ19,8 cm

28, A ball shaped like a sphere has a radius of approximately 21 Inches, Which of the following is
8

the besL estimate of the volume of the ball?



29, Sakura has a birdhouse with rectangular walls, a rectangular bottom, and a rectangular entry,
like the one modeled below.

6 "
10 I n.---ÿ----ÿ

l
12 in,

She will paint the four outside walls but not the bottom or the roof of the birdhouse, What Is
the area that Sakura will paint? k

t



30, The scal:l::erplol: below shows the relal:ionshlp beLween l:he dally high temperature and the
number of snow cones sold al: a concession stand on ttiat day,

Snow-Cone Sales
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High Temperature (°F)

Based on the scatl:erplol:, approximal:ely how many snow cones will be sold on a day when the
hlgh temperature Is 87OF ?

H 29

3 33

31,  A weightlifter is adding plal:es of equal weight to a ban The table below shows the total
weight, including the bal; that he will lift depending on the total number of plates on the bar,

Number of
Plates

%(.     2         11s
4 .   18s

I"ÿ (ÿ1     8         325

Total Weight
Oh)
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What is the total weight for 11 plates and the bar?
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32. To get from home to work, Felix can either take a bike path through the rectangular park or
ride his bike along two sides of the park,

Work

q
0.7 ml

-....e hath

Felix's

3.1 mi                              house

b
How much farther would Felix travel by riding along two sides of the park than he would by
taking the path through the park?

. L/q+- 9.c,I =c-ÿ

33,  Quadrilateral QÿR'SrTÿ Is a dilation of quadrilateral QRST, with the origin as the center of
dilation,
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What appears to be the scale, faÿ:$er-uÿeÿ.ÿate this dilation?



34. 4
'---x-2 wtiat is the value of x when  y=-139]f Y   5    '
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35. Dominic used the equation below to find d, I:he amount in dollars he would spend on gasoline
to drive a distance of m miles.

d=m (3.s)

Based on this equation, how much would Dominic spend on gasoline to drive a distance of
175 miles?

A $25.20

B $21.oo

24.50

D $28.0O

F
t,I

[



36, Tile dishwasher at a restaurant is loaded with ttle same number of dishes every time it is
used, The table below shows ttÿe total nurnber of dishes washed as a function of tile number
ef times the disl]washer i-ÿ used,

Restaurant Dishwasher

-  t. (

$
"( ot

. o*

Number of
Times Used

2

4

6

8

Tot:al Number of
Dishes Washed

52

104

156

208

%,

Based on the data In the table, what is the total number of dishes that ,,,,,ill have been washed
when tlle dishwasher Is used 11 times?
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37, Anita has a collection of postage stamps from different countries. She has one book that
contains 35 stamps. She has a second book that has 7 stamps on each page. The equation
below can be used to find t, the total number of postage stamps Anita tlas if the second book
has p pages.

t =35+7p

How many postage stamps does Anita have in all if the second book has 25 pages?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.
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38. Polygon QRST below was dilated by a scale factor of 9 to create polygon Q'R'S'T',
5
q

R

4,3 cm

q

6.8 ag__ÿ__ÿ__ÿ-- S

5,1 cm

7,7 cm T

What is the length in centimeters of ÿ?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.
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39. Calculate the interest you would earn on a $2200 deposit at 5.5% interest
compounded annually if you make no withdrawals or deposits for 10 years.

Record your answer and fill in the bubbles on your answer document. Be sure to use
the correct place value.
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40. Mia wants to make a canvas tent with the dimensions shown, including the floor.
The ends of the tent are isosceles triangles. The canvas costs $2.25 per square foot.
How much will Mia spend on canvas?

Record your answer and fill in the bubbles on your answer document. Be sure to
use the correct place value.
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